BRI ARBAOBE=FEERERE 7t RHFRIEGRTR

FERERINRERAKE B A%
AN OB = BB E o thar RE SR
L] BAOR Eis ] Hth% BRBLEERIS
0Z 1455 152645% 65BA 1 0Z145% 1526485 655%2A L

& ot 21,189 2,010 14,467 4712 949 68.28 224 46
NHE 3,268 346 2,176 746 10.59 66.59 2283 50
FRE 2,905 272 2,009 624 9.36 69.16 21.48 45
FrRE 1,524 178 998 348 11.68 65.49 22.83 53
tRE 2,165 202 1,508 455 933 69.65 21.02 44
—HE 3,830 45 2,648 737 11.62 69.14 19.24 45
ZKARE 2,204 218 1,561 515 9.50 68.05 2245 47
e 1,706 113 1,189 404 6.62 69.70 23.68 43
Bk 1,592 157 1,125 310 9.86 70.67 19.47 4
HHE 629 35 452 142 5.56 71.86 22.58 39
ERE 708 33 460 215 466 64.97 30.37 54
REE 568 1 341 216 1.94 60.04 38,03 67

B I.J\Iﬁ%1b33%=(14%?\9%'ﬁ9?i§ » 2096 RABREBO=(65 A E A D8+ 4R h AIRES0*100 - ERHEHFRERFTATRAE &% ‘
23RRE=(OZ 1458 A I8+ 6588 2L _E A I8+ 1526455 A 180*100 -
3R A B=( AR R IE A DB+ A4 A A B2 -




BRI ARBAOBE=FEERERE 7t RHFRIEGRTR

FEREREIIERAE B A%
AN OB = BB E o thar RE SR
8 5 BAOR Eis ] Hth% BRBLEERIS
0Z 1455 152645% 65BA 1 0Z145% 1526485 655%2A L

& ot 21,342 2,047 14,709 4,586 9.59 68.92 2149 45
NHE 3,303 366 2,208 729 11.08 66.85 22,07 50
FRE 2,936 283 2,058 595 9.64 70.10 20.27 43
S 1,529 179 1,001 349 1171 6547 2.83 53
tRE 2,157 192 1,513 452 8.90 70.14 20.96 43
—HE 3,802 438 2,654 710 11.52 69.81 18.67 43
ZKARE 2,339 226 1,626 487 9.66 69.52 20.82 44
e 1,721 117 1,200 404 6.80 69.73 2347 3
Bk 1,551 153 1,110 288 9.86 71.57 1857 40
HHE 662 41 484 137 6.19 73.11 20.69 37
ERE 47 39 496 212 522 6640 28.38 51
REE 595 13 359 223 218 60.34 37.48 66

B I.J\Iﬁ%1b33%=(14%?\9%'ﬁ9?i§ » 2096 RABREBO=(65 A E A D8+ 4R h AIRES0*100 - ERHEHFRERFTATRAE &% ‘
23RRE=(OZ 1458 A I8+ 6588 2L _E A I8+ 1526455 A 180*100 -
3R A B=( AR R IE A DB+ A4 A A B2 -




BRI ARBAOBEE =FREERERE b R HRBESRTR

FEREICGERAR Bir: A%
A= FEEAF R E S b R E PR LD
=01 WAL ERE H5Eh% BRELERY
0F 145% 15Z2645% 65 | 0E145% 15Z645% 6552 L

& &t 21,488 2,106 14,947 4,435 9.80 69.56 20.64 4
ANHE 3,338 379 2,246 713 1135 67.29 21.36 49
EIRRE 2,987 304 2,100 583 10.18 70.30 19.52 )
FrE 1,550 167 1,042 341 10.77 67.23 22.00 49
tRE 2,152 194 1,518 440 9.01 70.54 2045 )
ZHE 3,853 448 2,719 686 11.63 70.57 17.80 £
TKPREL 2,364 242 1,662 460 10.24 70.30 19.46 ')
gt 1,747 129 1,234 384 738 70.64 21.98 )
v EE 1,483 140 1,072 271 9.4 72.29 1827 38
HE 633 37 464 132 585 7330 20.85 36
FRE m 46 517 209 596 66.97 2.07 49
AEE 609 20 373 216 328 61.25 3547 63

B - I.J\Iﬁ%fb$%=(l4%2%r%‘ﬁ%?i§ » 2096 RABRB=(653 N EA B2 LR P AISERD*100 - ERTHEHFBRERTAFHAR &5 .
23RBE=(O0Z 1458 A 8+ 655% BA_E A IE)+1SE64BRA LI80*100 ©
3AFH AISEB=( 14 A A 8 + AR HIE A L1802 -




BRI ARBAOBEE =FREERERE b R HRBESRTR

FEREI09FERAE Bir: A%
AN OB =R oty R BeREE
B a0 HBAOR ERE Bth% PR IS
0Z145% 158645% 653k 0Z145% 152645% 65HREA L

& ot 21,668 2,183 15,159 4,32 10.07 69.96 19.96 43
NHE 3,392 411 2,284 697 1212 6733 2055 49
FRE 3,042 322 2,155 565 10.59 70.84 18.57 41
HRE 1,556 167 1,053 336 10.73 67.67 21.59 48
tRE 2,220 207 1,578 435 932 71.08 19.59 4
TR 3,840 436 2,743 661 11.35 7143 17.21 40
AKAREL 2,438 270 1,721 447 11.07 70.59 18.33 £
FritE 1,781 143 1,269 369 8.03 7125 20.72 40
v EE 1,335 123 947 265 921 7094 19.85 4
HRE 644 36 475 133 559 73.76 20.65 36
FiRE 795 48 542 205 6.04 68.18 25.79 47
AEE 625 20 392 213 320 62.72 34.08 59

B - I.J\Iﬁ%fb$%=(l4%2%r%‘ﬁ%?i§ » 2096 RABRB=(653 N EA B2 LR P AISERD*100 - ERTHEHFBRERTAFHAR &5 .
23RBE=(O0Z 1458 A 8+ 655% BA_E A IE)+1SE64BRA LI80*100 ©
3AFH AISEB=( 14 A A 8 + AR HIE A L1802 -




BRI ARBAOBEE =FREERERE b R HRBESRTR

FEREI0ERAE Bir: A%
AN OB =R oty R BeREE
B a0 HBAOR ERE Bth% PR IS
0Z145% 158645% 653k 0Z145% 152645% 65HREA L

& ot 21,886 2,299 15,420 4,167 10.50 70.46 19.04 £
NHE 3420 428 2323 669 12.51 67.92 19.56 47
FIRE 3,17 348 2,220 549 1116 71.22 1761 40
FrE 1,552 170 1,060 322 1095 68.30 20.75 46
tRE 2,208 217 1,568 423 9.83 71.01 19.16 4
—HE 3915 466 2,807 642 11.90 71.70 1640 39
AKAREL 2,443 283 1,747 413 11.58 7151 1691 40
FritE 1,801 148 1,301 352 822 7224 19.54 38
E Ve 1,329 125 951 253 9.41 71.56 19.04 40
R 642 40 476 126 6.23 74.14 19.63 35
FiRE 808 49 554 205 6.06 68.56 25.37 46
AEE 651 25 413 213 3.84 63.44 272 58

B - I.J\Iﬁ%fb$%=(l4%2%r%‘ﬁ%?i§ » 2096 RABRB=(653 N EA B2 LR P AISERD*100 - ERTHEHFBRERTAFHAR &5 .
23RBE=(O0Z 1458 A 8+ 655% BA_E A IE)+1SE64BRA LI80*100 ©
3AFH AISEB=( 14 A A 8 + AR HIE A L1802 -




BRI ARBAOBEE =FREERERE b R HRBESRTR
ERE107E12HE Bir: A%

AN OB =R oty R BeREE
B B0 HBAOR ERE Bth% PR IS
0Z145% 158645% 65 L 0Z145% 152645% 65HREA L
& ot 22,148 2,364 15,728 4,056 10.67 71.01 1831 41
NHE 3,428 427 2,348 653 12.46 68.49 19.05 46
FRE 3,168 363 2,271 534 11.46 7169 16.86 39
3L 120 1,583 168 1,099 316 1061 69.43 19.96 44
tRE 2241 232 1,593 416 10.35 71.08 18.56 41
—HE 3,962 478 2,869 615 12.06 7241 15.52 38
ZKARE 2474 295 1,783 39 11.92 7207 16,01 39
e 1,800 149 1,303 348 828 7239 19.33 38
E Ve 1,339 126 978 25 941 T3.04 17.55 37
HHE 657 43 485 129 6.54 73.82 19.63 35
ERE 830 53 572 205 6.39 68.92 24.70 45
REE 666 30 427 209 450 64.11 3138 56

B - I.J\Iﬁ%fb$%=(l4%2%r%‘ﬁ%?i§ » 2096 RABRB=(653 N EA B2 LR P AISERD*100 - ERTHEHFBRERTAFHAR &5 .
23RBE=(O0Z 1458 A 8+ 655% BA_E A IE)+1SE64BRA LI80*100 ©
3AFH AISEB=( 14 A A 8 + AR HIE A L1802 -



BRI ARBAOBEE =FREERERE b R HRBESRTR
¥ RE1065 128 & Bir: A%

AN OB =R oty R BeREE
B B0 HBAOR ERE Bth% PR IS
0F 145 15648 65 L 0FE145% 15Z645% 6532 E
& ot 22215 2,432 15,902 3,941 10.92 7139 17.69 4
NHE 3,438 423 2371 644 12.30 68.96 1873 45
FRE 3,183 373 2,290 520 1172 71.94 16.34 39
3L 120 1,602 182 1,120 300 11.36 69.91 18.73 43
REHE 1,184 113 834 237 9.54 7044 20.02 £
tHRE 1,102 130 794 178 11.80 72.05 1615 39
| 3952 476 2,889 587 12.04 73.10 14.85 37
AR 2499 310 1815 374 1240 7263 1497 38
ik 1,820 156 1,329 335 8.57 73.02 1841 37
R 1,321 128 %7 26 9.69 73.20 17.11 37
R 670 48 49 130 7.16 7343 19.40 36
THRE 836 61 578 197 730 69.14 23.56 45
REH 668 2 423 213 479 6332 31.89 58
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BRI ARBAOBEE =FREERERE b R HRBESRTR

hERBEISERAE Bir: A%
AN OB =R oty R BeREE
B B0 HBAOR ERE Bth% PR IS
0F 145 158645% 65 L 0FE145% 152645% 6532 E

& ot 22,406 2,502 16,069 3,835 11.17 .72 17.12 39
NHE 3,462 440 2,407 615 1271 69.53 17.76 44
FRE 3,137 364 2,266 507 11.60 723 16.16 38
3L 120 1,623 197 1,137 289 12.14 70.06 17.81 43
REHE 1,215 121 863 231 9.96 71.03 19.01 41
tHRE 1,118 134 808 176 11.99 7.2 15.74 38
| 3,950 489 2,903 558 1238 7349 14.13 36
ZKHE 2,529 313 1,848 368 1238 73.07 14.55 37
ik 1,840 161 1,348 31 8.75 7326 17.99 36
R 1,309 125 960 24 9.5 73.34 17.11 36
R 686 52 505 129 758 73.62 18.80 36
EE 857 67 585 205 7.82 68.26 23.92 46
REH 680 39 439 202 574 64.56 271 55
BREA 1.Aﬁ%¢b$%=(l4%k%ﬁ%?i§ » 2096 RABE )= (653 A L ACOB B EE P AOEE)*100 - BERMAFEEERSEEH &R

2B EE=((0Z 145 A T8 + 655 A _EA OB+ 15Z 643 A I R0)*100 -
3ETACER=(LEABAOB+ AEREACOB)2




BRI ARBAOBEE =FREERERE b R HRBESRTR

PERE104FE12HE Bir: A%
AN OB =R oty R BeREE
B a0 HBAOR ERE Bth% PR IS
0Z145% 158645% 653k 0Z145% 152645% 65HREA L

& ot 22,586 2,593 16,271 3,722 1148 72.04 1648 39
NHE 3481 451 2428 602 12.96 69.75 17.29 43
FIRE 3,154 376 2,274 504 11.92 72.10 1598 39
3L 120 1,651 19 1,174 281 11.87 7111 17.02 41
REME 1,253 155 875 23 12.37 69.83 17.80 43
tHE 1,105 128 805 172 11.58 7285 15.57 37
ZHE 3,946 497 2912 537 12.60 73.80 13.61 36
ZKHE 2,564 323 1,889 352 12.60 7367 13.73 36
e 1,863 17 1,373 318 923 73.70 1707 36
kR 1,297 125 962 210 9.64 74.17 16.19 35
R 699 55 520 124 7.87 74.39 17.74 34
THRE 874 7 602 200 8.24 68.88 22.88 45
AEE 699 43 457 199 6.15 65.38 2847 53
BREA 1.Aﬁ%fh$%=(14%k%ﬁ%?i§ » 2096 RABE )= (653 A L ACOB B EE P AOEE)*100 - BERMAFEEERSEEH &R

2B EE=((0Z 145 A T8 + 655 A _EA OB+ 15Z 643 A I R0)*100 -
3ETACER=(LEABAOB+ AEREACOB)2




BRI ARBAOBEE =FREERERE b R HRBESRTR

hERBEIERAE Bir: A%
AN OB =R oty R BeREE
B B0 HBAOR ERE Bth% PR IS
0F 145 15648 65 L 0FE145% 15Z645% 6532 E

& ot 2832 2,773 16,445 3,614 12.15 72.03 15.83 39
NHE 3,546 471 2,486 583 1345 70.11 16.44 ]
FRE 3,173 414 2,274 485 13.05 7167 15.29 40
3L 120 1,663 200 1,188 275 12.03 71.44 16.54 40
REHE 1,274 174 884 216 13.66 69.39 16.95 44
tHRE 1,121 134 816 1M 11.95 72.79 15.25 37
| 3,89 513 2,858 519 13.19 7347 1334 36
AR 2,610 345 1,938 327 1322 7425 12.53 35
ik 1,892 196 1,385 311 10.36 7320 16.44 37
R 1,303 118 978 207 9.06 75.06 15.89 33
R 71 62 542 127 8.48 7415 1737 35
THRE 922 93 631 198 10.09 68.44 21.48 46
REH 707 47 465 195 6.65 65.77 2758 52
BREA 1.Aﬁ%fh$%=(14%k%ﬁ%ﬁ:§ » 2096 RABE )= (653 A L ACOB B EE P AOEE)*100 - BERMAFEEERSEEH &R

2B EE=((0Z 145 A T8 + 655 A _EA OB+ 15Z 643 A I R0)*100 -
3ETACER=(LEABAOB+ AEREACOB)2




BRI ARBAOBEE =FREERERE b R HRBESRTR

FEREIERAE Bir: A%
AN OB =R oty R BeREE
B B0 HBAOR ERE Bth% PR IS
0Z145% 158645% 65 L 0Z145% 152645% 65HREA L
& st 23,151 2,912 16,681 3,558 12.58 72.05 1537 39
tHE 1,142 141 830 11 1235 7268 1497 38
R 3924 525 2,888 511 1338 73.60 13.02 36
AREE 731 55 487 189 752 66.62 25.85 50
it 1,943 211 1,418 314 10.86 72.98 16.16 37
NHE 3,608 498 2,553 557 13.80 70.76 1544 4
ZKPREL 2,600 341 1,953 306 13.12 7512 1.77 33
EHE 925 102 618 205 11.03 66.81 216 50
FRE 3212 431 2,301 480 1342 7164 1494 40
HRiE 1,699 219 1,197 283 12.89 7045 16.66 )
e 708 56 525 127 791 7415 17.94 35
HEME 1,321 187 923 211 14.16 69.87 15.97 43
B 1,338 146 988 204 1091 73.84 15.25 35
BREA 1.Aﬁ%¢b$%=(14%k%ﬁ%?i§ » 2096 RABE )= (653 A L ACOB B EE P AOEE)*100 - BERMAFEEERSEEH &R

2B EE=((0Z 145 A T8 + 655 A _EA OB+ 15Z 643 A I R0)*100 -
3ETACER=(LEABAOB+ AEREACOB)2




BRI ARBAOBEE =FREERERE b R HRBESRTR
HERE101F12HE Bir: A%

AN OB =R oty R BeREE
B B0 HBAOR ERE Bth% PR IS
0Z145% 158645% 65 L 0Z145% 152645% 6532 E

& st 23,346 3,035 16,839 3472 13.00 7213 14,87 39
tHE 1,141 149 828 164 13.06 7251 1437 38
R 4,008 571 2,931 506 1425 73.13 12.62 37
AREE 729 53 494 182 727 61.76 297 48
L] 2,000 233 1,451 316 1165 7255 15.80 38
NHE 3,605 511 2,557 537 14.17 70.93 14.90 4
ZKPREL 2,582 346 1,946 290 13.40 7537 1123 33
EHE 943 112 631 200 11.88 66.91 2121 49
FRE 3222 434 2,321 467 1347 72.04 1449 39
HRiE 1,730 234 1212 284 13.53 70.06 16.42 43
e 720 64 533 123 8.89 7403 17.08 35
HEME 1,332 184 939 209 13.81 70.50 15.69 )
B 1,334 144 996 194 10.79 74.66 14.54 34

B 1.Aﬁ%fh$%=(l4%2’?@%ﬁ%ﬁ:§ » 209 RABREIR)=(65E L E A OB EE T ADHB0*100 - BERTHAFBEBEHS &8
2B EE=((0Z 145 A T8 + 655 A _EA OB+ 15Z 643 A I R0)*100 -
3ETACER=(LEABAOB+ AEREACOB)2




BRI ARBAOBEE =FREERERE b R HRBESRTR

FEREIERARE Bir: A%
AN OB =R oty R BeREE
B B0 HBAOR ERE Bth% PR IS
0Z145% 158645% 653k 0Z145% 152645% 65HREA L
& st 23,509 3,202 16,877 3,430 1362 .79 14.59 39
tHE 1,162 162 833 167 13.94 71.69 1437 39
—HH 4,048 614 2,936 498 15.17 72.53 1230 38
AEE 730 54 497 179 7.40 68.08 2.52 47
it 2,018 250 1,460 308 12.39 7235 15.26 38
ANHE 3,655 541 2,583 531 14.80 70.67 14.53 4
ZKPREL 2,604 362 1,953 289 13.90 75.00 11.10 33
EHE 936 111 619 206 1186 66.13 201 51
FRE 3,235 452 2,327 456 13.97 71.93 14.10 39
FrE 1,735 246 1,212 277 14.18 69.86 1597 43
iR 734 70 543 121 9.54 73.98 16.49 35
HEE 1,329 190 907 212 14.30 69.75 15.95 43
E vl 1,323 150 987 186 11.34 74.60 1406 34
BREA 1.Aﬁ%1b$%=(14%2%%&%?i§ » 2096 RABE )= (653 A L ACOB B EE P AOEE)*100 - BERMAFEEERSEEH &R

2B EE=((0Z 145 A T8 + 655 A _EA OB+ 15Z 643 A I R0)*100 -
3ETACER=(LEABAOB+ AEREACOB)2




BRI ARBAOBEE =FREERERE b R HRBESRTR

hERBEIEIRAE Bir: A%
AN OB =R oty R BeREE
B B0 HBAOR ERE Bth% PR IS
0Z145% 158645% 65 L 0Z145% 152645% 6532 E
& st 23,694 3,358 16,947 3,389 14.17 7152 1430 4
tHE 1,190 184 838 168 1546 7042 14.12 %)
R 4075 646 2,943 486 15.85 72.22 1193 38
AREE 751 61 512 184 8.06 67.64 2431 48
L] 2,040 270 1,465 305 1324 7181 14.95 39
NHE 3,593 520 2,555 518 14.47 7111 14.42 41
ZKPREL 2,519 360 1,943 276 13.96 7534 10.70 33
EHE 965 117 643 205 12.12 66.63 21.24 50
FRE 3,298 489 2,355 454 14.83 7141 13.77 40
HRiE 1,767 262 1,226 279 14.83 69.38 15.79 44
e 719 7 528 120 9.87 T344 16.69 36
HEME 1,337 195 929 213 14.58 69.48 15.93 44
B 1,374 183 1,010 181 13.32 7351 1317 36
BREA 1.Aﬁ%¢h$%=(14%k%&%?i§ » 2096 RABE )= (653 A L ACOB B EE P AOEE)*100 - BERMAFEEERSEEH &R

2B EE=((0Z 145 A T8 + 655 A _EA OB+ 15Z 643 A I R0)*100 -
3ETACER=(LEABAOB+ AEREACOB)2
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